41501_B MHRFEXRE B H K HHXEH

7= miiEA

MR

BEXENBEHRENAEESHTIERE,
HBREELEH TR R AN RS,
BEXEMERSEREZSHIIRGIAES. RBIET HER , THTFX
Ugo

FARZRRE , AR ETHLENAES , ARIHREMIEEN
B E R L,
BYRERPWERY, , TUBHRERENRITLEIME,
BT : M12=%1.0 mm, M16 = +1.5 mm,

RS
BR MK X T RN BRM.

g
BERNRZETHEL2BLNERELAE,

BR:
EREE ENFHANETALETUBMALRETER , WK FENTH
RERE,

HEEE -
R E,
B E8R1E

H3

41501-0500212 B mE 44,5 | 50,5 50 25 30| 125 35| M5 M12x25 30 85
41501-0720212 B o] 61 68 72 | 39,7 44| 213 | 35| M6 M12X40 30 85
41501-0720216 B g 61 68 72 | 39,7 44| 213 |35 | M6 M16X40 50 150
41501-1000216 B wE 715 | 815 | 100 | 426 64| 216 | 5 M8 M16X40 50 150

© norelem www.norelem.com



